Test 1. Econ.Anal 14.0ct.  + NEPTUN: = Name:

1. A. Compute C = ( -3 ~1 ) ( ; )
B. Compute the square of the Eucledian length of {1,1,~1,0}7 !
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2. A. Let f(z) = 32% + 1. Compute {E+420)-7() | What is the limit of this fraction if Aa:,. =1/n?
What is £'(5) ?
B. Study the monotomcity and the limit of the following sequences!
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3.A. Compute the limit of the following sequence! a, = (1- % ) ~3n47 (3,.2"1 ).

B. Let ¢(z) = 82— 2, T =2, Tny1 = #(z,). What are ¢! and ¢"(1) =z, ?
1. Compute ¢~'! : o P Th

. ot Shoyld |, X = 21.
9. Find the fixed point z; of ¢ ! )
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3. Compute z,, !
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4 A Lew,=(~ 22)17,,:(2) (;§)=w1+ﬂz§ COmpﬁte(g) 3

B. Let T' be a 2 x 2 matrix formed by the transition probabilities of a two state (]abeled by 1 and 2)
stochastic system, where
‘T(I(—I) Ty =1, T(24—1)-~T21—0 T(l(—2) T12-02 T2+ 2)=Tn=08..

1. Find an eigenvector ¥y correspondmg to the eigenvalue A\; = 1! (This is the ethbnum state.)

2. Find the elgenva.lue Mof T corr&spondmg to the eigenvector 7 = ( _22 ) !

3. Calculate o and 4 in (‘1’) = oy + By |

4. Calculate T(a@y + Ba), T?(af + BTy), ete. o
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Test 1. Econ.Anal 14.0ct. NEPTUN: Name:

' 1 ‘
1. A. Compute C = ( _9 ) (1 -3).

B. Compute the square of the Eucledian length of {2, ~2,~1,~2}T !

1 0\
C.Compute(4 1) .
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2 A. Let f(z) = 8z +7. Compute ﬁs—ﬂ’—'ﬁ@ ! What is the limit of this fraction if
=1/n(—1)" 7 What is /e ?
B. Study the monotonicity and the limit of the following sequenees’
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3.A. Compute the limit of the following sequence! a, = (14 L) (=25).

B. Let ¢(z) = 3z + 2, 2o = 3, Tns1 = P(Tn). What are ¢! and ¢"(1) =z, ?

1. Compute ¢! r\lf W aJ lr\JceMo{ea( to be

2. Find the fixed point z; of ¢ ! o= X ynot 4.
3. Compute z,, ! - K :
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4, A;Letﬁ:(g),ﬁa:(g),(é§)=av’1+ﬁﬁg. Compute( )!
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1. Find an eigenvectér #; corresponding to the eigenvalue A =31
2. Find the eigenvalue Ay of T corresponding to the eigenvector @ = ( _}1 )!
- 3. Calculate o and B in ( (1) ) = ai + Bg !
4. Calculate T(aB; + f5s), T?(aby + ), etc. - [3
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